MECHANICS 2 (2017/18 spring) | HW7 |

Small test problems

HW7/1

Consider a very long elastic rod with mass density p, Young’s modulus E, and cross-section A.
The rod lies on the x axis. One end of the rod is in the origin (x=0), the other end is far away,
practically in the infinity (x — ©0). The longitudinal waves in the rod are described by the
Lagrangian density

L= % (atf(x: t))z - ? (axf(x: t))z ’

where the field &(x, t) describes the longitudinal displacement of the points of the rod.

a.) Write down the Euler-Lagrange equation of motion for the system.

b.) We excite the rod by moving its end (x=0) as é(0,t) = a sin wt. Show directly that
following plane-wave solution solves the equations of motion:

&(x,t) = asin(wt — kx).

Determine the value of k as a function of ®.

c.) Starting from the Lagrangian, derive the expression for the energy density &, and the
energy current j.. (Use the law of energy conservation, similarly to the problems in class.)

d.) Determine the average power of the generator that excites the rod. (Hint: calculate the
total transmitted energy in one period T = 21 /w)

HW7/2
Consider the bending waves in an elastic rod. As it has been discussed in class, the bending energy
is proportional to the square of the curvature of the rod, therefore the Lagrangian of the system is

A EO®
L=50x ) -— (2w ),
where A is the linear mass density (mass per unit length), E is the Young’s modulus of the rod,
and © is the cross-section parameter. The field ¥/(x, t) describes the small transversal
displacement of the rod.
a.) Determine the Euler-Lagrange equation of motion for the system. Be careful with the
second-derivative term.
b.) Starting from the Lagrangian, determine the energy density in the model.
¢.) Determine the expression of energy current in the model.
(Try to follow the way of the class: calculate the time-derivative of the energy density, and
use the equations of motion to transform it into a total x-derivative. In this case the energy
current is a sum of two different terms.)
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KisZh-an szerepelheto feladatok

HF7/1

Tekintsen egy igen hossza rugalmas radban terjedd longitudinélis hullamokat. A rad stirasége p,
Young modulusza E, keresztmetszete A. A rud az x tengely mentén fekszik, az egyik vége az
origdban (x = 0) talalhat6, a masik vége praktikusan végtelen messze van (x = 00) A rendszerben
terjedd longitudinalis hulldmokat az aldbbi Lagrange-striiséggel irjuk le

A EA
=22 (060 0)" - (06 0)’,
ahol a £(x, t) mez6 a rad pontjainak hossziranya elmozdulasait irja le.

a.) Adja meg a rendszer Euler-Lagrange mozgasegyenletét.

b.) A rtd x=0 pontban 1év6 végét gerjesztjiik, ezért £(0,t) = a sin wt. Direkt
behelyettesitéssel mutassa meg, hogy az alabbi megoldas megfelel a mozgasegyenleteknek
&(x, t) = asin(wt — kx).

Adja meg a k értéket az o fliggvényében.

c.) A Lagrange-siiriség alakjabdl kiindulva adja meg az € energiastiriiség, és a j, energiaaram
kifejezését (4 gyakorlaton ldatotthoz hasonloan haszndlja az energiamegmaradds
torvényét)

d.) Adja meg a gerjesztést leadd generdtor atlagos teljesitményét (Segitség: szamitsa ki a
rudban tovabbitott energidat egy periodus alatt. (T = 2m/w))

HF7/2
Tekintsen egy rudban terjed6 hajlitasi hullamokat. Ahogy az éran lattuk, a hajlitasi energia
aranyos a rad gorbiiletének négyzetével ezért a rendszer Lagrange-striisége az alabbi alaku

A EO®
L=50x ) -— (2w ),
ahol & a rud linearis tomegslriisége (tomeg per hosszegység), E a Young modulus, és © a
keresztmetszeti tényez6. A P (x,t) mezé a rad kicsiny transzverzalis kitéréseit irja le.
displacement of the rod.
a.) Adja meg a rendszer Euler-Lagrange mozgasegyenletét Legyen 6vatos a masodik
derivaltat tartalmazé taggal.
b.) A Lagrange-striiség alakjabol kiindulva adja meg az € energiastiriiség kifejezését.
¢.) Adja meg az energiaaram kifejezését a modellben.
(Probdlja kovetni az ordn latott eljarast. Hatdrozza meg az energiastiriiség idoderivaltjat,
majd a mozgasegyenlet felhaszndldsdaval alakitsa dat ezt egy teljes x-derivaltta. Az
energiadram ebben az esetben két tag osszegeként dll eld.)



